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Name: Datum: Ergebnis:
G+ 2G+ M- G-+ G- (-

G+ 2C- (M)~ -2 -2t -

(5-3P+ G+ (50 G+ar-2G+ -
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Name: Datum: Ergebnis:
3 3, 33 1, 129 49 3 1 2,
CHIP -4 L =1 Z—- -
(4 4) 4(5 (2) ) 80 80 (4 4) ( (5 ) )= 150
1 1, 13 2 1 1, 2 5 57 |
—— )+ —(=— =)= (—— + )Y+ =-+=-x22=—=14-
(2 2) 4(5 3) ( 60) (3 2) 5 4 4
1 2, 2983 , 1 , 1 311 23
— - 4— )Y —— -4 _ ="
(2 3 ( (3 )) 3600 ( ) 3 4 48 48
1 1, 1 1261 3 2, 13 2 3173 293
- —— +-- —+ =)= (=F+ =)= —— =4—
(5 2) 6( 3 )) 5400 (2 3) 4(4 5) 720 720
2 1 1 2213 113 2 2 1 1 1 367
4— SVl Do _ 7 Sty Ll ip2Y
G=37 373" 300 300 G-I 3+G+3) =55

www.snowmath.com



https://www.snowmath.com

